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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

¥ + 1. Answer the following questions : 1x10=10
OeTq eITAINT O rdl 8

(@) 1If a matrix has 8 elements, what are
the possible orders it can have ?

I G5 TEare 861 (e ATH, (9% 2O
QT #IF B TS 2 :

Contd.



(b) What is perpetual annuity ?

(c)

(@)

(e)

Pz RS [Fe

State True or False :

o) o TN g

“In LPP, all variables may not be
positive.”

“ TR 2lare FTEHIS, AR B S e
A

Fill in the blank :
Tt 3B =Fe T 8

Iaxdx: WAty TIRSST

Ih a ratio a: b, if a> b, then it is called
a ratio of inequality.
(Fill in the blank)

I GBI SIS a: b, a> b 2, (SEZ E 3G
IR | ) | T
(=Tt 212 239 7))
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(9)

()

4 (Sem-4/CB

The nth term of an AP is 3n-5. Find
the 15t term.

@51 TiEE 25ifeq n ©F #WMeel TS 3n-51
eliforeE 15 s Ancel e =i

If interest is compounded half yearly,
what is the formula for finding

amount ?

o IR S b REIE oI SR TR
Refa 41 F@ce! B

Given (frl wilt=)

A= Amount (Rf&g1)
p= Principal (J&74)
r= Rate (79.29)

n=No. of years (21‘?5?)

Define limit of a function f(x) at x=a.

x= a'S f(x) TR TN wEE
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(i) Fill in the blank :
T 12 =59 =11

a
dx

(TR) -
where x denotes the volume of output.

TS x (@ TeAiro AT Wﬁ?&l

()  Write one difference between matrix ang
determinant.

Gl oIk F1efiz=p ere <1 siieey Fiay |
2. Answer the following questions - 2x5=10
wold @IS Bes )

(@) A man spends 85% of his income. If

his saving is 37-50, find his salary.

G ACE (96T TR 850 A6 B e

37-50 T3l AP 2l | COST v Ry il
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(b) If (M)

Xk SYS I R
Tz AUl TIE )

find the values of x and y.

x O yJ N Ofered |

(c) Divide Rs. 52 among A, Band C iﬁ the
ratio %5%-’%-

52 5T A, BWCQW%:%:

A=

eife® Ol 91|

(d) What sum of money will yield % 1,407
as interest in .1% years at 14% p.a.
simple interest.

TR 14% T 70© (¥ AR T 1L g
5w 1,407 Ol 2T

Evaluate (e =41 -

J1+2x-J1-3x

X

lim
x—0
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3. Answer the following questions : (any four)
5x4=20
: o fRCPICA] G5 e ey f

: il A
(@) If (@) A= [2_ —1]’-B=l:b —1]

and (%) (A+B) = A%+ B2,
find the value of a and b,
(CSTT a % bI T =1 57)

its life period is estimated to be 20
“years. After 20 years, the computer is.

expected to cost more by 20% over its

present cost. Find the sum to be

invested every year at 5% p.a. CI for
= 20 years to replace this computer.

4f6 F™CB T 1,00,000 T =i 3TE
SRR 20 %3 3 4 tarm) 20 999 A9
23/ T 20% 3% 7l | eSB! 20 T=T
ES T BRI 20 offs qmrg @ o{@wE

WWS%WWW@MW ﬁﬂﬁl i
=4 |

(b) The cost of computer is ¥ 1,00,000 and }
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(c) The total cost function for producing
x units of a commodity

TC = 300 - 102 +%x3.

Find the output levels at which the
marginal cost is minimum.

FR2ARE AN BLATR, JI BLA [T o

: 1
TC = 300x —10x> +-3~x3.

Rt AN Tl SR e 7 o
=g {1 7= |

(d) A bicycle agent allows 20% discount
on his marked price and makes 20%
profit on his outlay. What is the market _
price of the bicycle on which be ga1ns

Rs. 240 7?
T bi2cre [reiR TS o9 8sitw 20%
(@22 {9 F=h! e eo /e 20% =[e
(S | AW BIBEE 4TS 240 53 #IS T, (S0
piacead e ey [ 2
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(e) If the pth, gth rth term of a GP are
X, Y, 2 respectively then prove that

ST 2 I
9B} STNET 2oifeq p©F, goF, rov v T _
X Y, 2z @ o9 F9 @
el B s e
(N If @) z=3x% -5x%y+2y°,

0z 0z
show that (234 F9l) x—+y— =32
o0x oy

4. (a) Integrate (SFe 1) 8 2ot 2Ys=5

(i) [(JE+-J17)2 dx

(i) [(6x+8)V3x? +8x+2 dx

(b) The marginal revenue function of a

product is MR =8 +5x—x2. Find the
total revenue and the average revenue,

{
given TR=82 when x=5. 5) j
aﬁﬁaﬁm%ﬁ@%@mwi’a |
|
MR =8 +5x x| cor% ¥ BT o o |
|
i
{
|
|

| %%ﬁwﬁq‘awrﬁmwm=82
'ﬂﬁx=5[
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OR [ 9341

5. (a) Examine the continuity of the following

function at x=3: 5
X = 3 95T SER T TR SR ze! AT
<4 2 w

e ) i
el T

6 ’ if x-:3

: dy  dy
Find — (—=
) Find e (o BRFND. oyiou-s
()" yi=e logx
() y=x*

GI () Define ‘lin€ar programming’ and state

its limitations. 4
R gewed Fk@l A W?‘aﬂﬁ AREIE
Tz 4l |
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(b) Solve the following linear programming
problem by graphical method : 6

OoT (AR e CE! (51 G I
1.2

Maximize (959 S {1 Zz = 8x + 5y

subject to (Fg ACATF) : 2x+y <500

X+y <250
x <150
x,y=20

OR [ G241

~l]

(a) Two mixtures A and B contain glycerine
and water in the ratio 4:5 and 3:2
respectively. How many litres of B must
be mixed with 81 litres of A so that
resulting mixture may contain équal
quantities of glycerine and water ?

8
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w5 el A S B'S 61RO 2Ae SHee
T4 :5 9% 3: 2181 6" AT e [
ﬂﬁmﬁsﬁwa@ﬁm—@mﬁnwmﬁa |
AT A 2?2

(p) A man invested 52,000 on % 100
shares at a discount of ¥ 20 paying 8%
dividend. At the end of the year he sells

the shares at a prerniﬁm of ¥ 20.
Find —
(i) his annual dividend ;

(i) the profit earned. . 5

& ez (9€9 52,000 i 100 O T

SRl 2@ 20 5 (TR PO 8% i LHaN |

T S (98 FRENEA S Ag 20 5

SRS [l | |
|

(org A 91 —
(i) (999 I T

(i) (93 0 S|

Contd.
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8. (a) Solve by Cramer’s rule: 5

(G AR FT© TN 1 3

X+2y—z=3
3x-—y+z=8
X+y+z=0

(b) If (IfF) A:[g Cl)] and (9IF)

I =[é (1)] prove that (2§ 341 ()

(@l +bA)® = a1 + 3a%ba 5

OR / 924

9. (a) A contractor undertook to build a house
in 21 days and engaged 15 men to do
the work. After 15 days he found it
necessary to engage 9 more men and
he had finished it 1 d'éy earlier. How
many days he would haye been behind
CmcBiritel held ot o ‘

‘ ngaged the
additional men ? i
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T BmiE 21 77 @Bt i R/ fae 15
G g 1o IR | 15 7179 #lize (08 Tt
9 T FHE I IR B e 1
ST A~ SR | e Tz At 7541
20T, D! R e AR oo SReeEren 2

(b) A man borrowed % 9,000 to repay the
amount with interest of 21,000 by
monthly instalments decreasing
successively by 20. In how many
months was the loan repaid, if the first
instalment o;"i 640 was paid one month

after the sum was lent? S

NSl FEe 1,000 55 JoH2 ey F119
IS 9,000 GRS GOI A (] IS 2
ot A1 FRICO A 20 Tl T FBEE
@ oe1| I B 49 GIRE Nz PrEre siey
Ffea 640 Tl sty 1 C2fest, (o
TS i TS B! AR Fife 2
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10. (a) Evaluate (IF Fef =) : 2Ye+2Yo=5

RS |
lim

U x>0 6x>+Tx? + 4

R e

(u} im —
x—>0 X

(b) From the 1st principle, find the

1
derivative of 7—; !

1
2125 I JRRE I, —J—;—-awﬁcﬁrwl

OR /[ @241

| il (a)_ Solve (A 1) :

a a
m m
b x
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(b) The simple interest on a sum for 3 years
at 4% 1s T 303:60. Find the compound
interest-on the sum for the same period |
at the same rate. S |

4% RAE (BIE J7479 3 IH 79
30360 Bl | G A, G 2O 2

IS b O W 4 |
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